Vendor

Auction Item For Sale
Lot # Number Description Qty BRAND LOT #
9212)54221 Blade Holder 1 Murray
9212165212 SHAFT BUSHING 1 Murray
921285007 JACKSHAFT 2 Murray
9212195402 SHAFT, SPLINED JACKS-MUR7601127MA 1 Murray
9212(421024 #8 JACKSHAFT, LONG W/KEYS-MUR021024MA 3 Murray
9212{0011X3MA|RING,E .750D .050T 5 Murray
9212{0025X6MA |SCREW, TRI .38-16 X 2 Murray
9212]|0025X7MA [ENG. BOLT 3/8 X 1.25-MUR2828635SM 2 Murray
9212{009X51MA |BOLT-SHD.38-16X.499D 3 Murray
9212|009X62MA [BOLT,SHOULDER(STEERIN 2 Murray
9212017X53MA [WASHER.41.82 16G FLT-MUR703590 3 Murray
9212(019X35MA |WASHER.43-0.74 X.04 S 1 Murray
9212|01X134MA [BOLT-HEX.31-18X4.12 0 2 Murray
9212(01X142MA |BOLT-HEX.37-24X1.50 P 2 Murray
92121021022MA [JACKSHAFT PULLEY 2 Murray
9212(021024MA |JACKSHAFT LONG 6 Murray
9212{021031MA |STEER. BALL JOINT 1 Murray
9212]021920MA [ADJUSTING NUT-MUR021920ZMA 1 Murray
9212(021920ZMAADJUSTING NUT 1 Murray
92121024273MA [LIMIT SWITCH-MUR5021451SM 2 Murray
9212(043629MA |PIN, DRIVE .177X.750 2 Murray
9212{043630MA |PINION RH 1 Murray
9212)|043631MA [PINION LH 1 Murray
9212|043792MA [LEVER STOP 21&22V-DL 1 Murray
9212(043828MA |S-CBL-S 39.00 22P C& 1 Murray
9212]056105MA [BEARING,WHEEL,5/8 SE 2 Murray
9212(056236E70[SECTOR ASSY 2 Murray
9212(070250MA |AXLE BEARING ASSY 1 Murray
9212|071779MA |IDLER -V- 21FDR 1 Murray
9212(091031SEMSEAT SWITCH KIT-MURR 1 Murray
92121091032MA [SWITCH-MOM.,DP,INDAK 1 Murray
92121091334MA [BEARING,WHEEL,3/4 SE-MUR491334MA 2 Murray
9212|091749E70|DRAG LINK (090041E700) 1 Murray
9212]091756MA |BEARING 1 Murray
9212{091903MA |BEARING SPACER P/M 1 Murray
9212(091925MA |SPACER-BEARING-P/M 2 Murray
92121092425MA [PULLEY-JACKSHAFT 42-MUR690020MA 1 Murray
92121092466 MA [ADAPTER- BLADE-MUR491926MA 3 Murray
9212(092466SEN ADAPTER, BLADE KIT 2 Murray
9212]092524E70[BRACKET - DECK (092524E700) 1 Murray
9212)|092849MA |SHAFT - SPLINED 1 Murray
9212(093062MA |GEAR-SECTOR 1 Murray
9212]093245MA [STACK PULLEY AY-HYDR 1 Murray
9212]094130MA [SPACER 2 Murray




9212|094136MA |LIMIT SWITCH-MUR5021451SM 1 Murray
9212|095080E70]COVER ONLY/MULCH 38/40/42 1 Murray
9212]09X12 SCREW 9X12 1 Murray
9212|1001200MASPINDLE JACKSHAFT HOUSING ASSEMBLY (4289) 5 Murray
9212]1001902MALCD MODULE 1 Murray
9212|1101366MAS-CBL-C 51.50 22RBFDTECRH 1 Murray
9212|15X140MA [HEX NUT-MUR15X140MA 1 Murray
9212|165X86MA [SPRING-EXTENSION 1 Murray
9212|1685799SMDIELECTRIC SILICON 12 TUBES (COUNTED AS EA) 21 Murray
9212(1704636SMWORM GEAR OIL 1 Murray
9212]1755857YPIGNITION KEY INSERT 4 Murray
9212|17X165MA |WASHER.62-1.0-.18 FL 1 Murray
9212|17X166MA |WASHER.62-1.7 11G - B 1 Murray
9212|17X170MA [WASHER .46.97.25 FLAT 1 Murray
9212|420005MA |THROTTLE CONTROL-SER-ORE60-420 2 Murray
9212|424578MA |JACKSHAFT KIT #10 4 Murray
92121442735MA |BLADE ADAPT W/KEY,WASHER,BOLT-MUR442735MA 1 Murray
9212|454211MA |BLADE ADAPTER KIT 3 Murray
9212|455962MA |JACKSHAFT HOUSING-MUR455962MA 1 Murray
9212|491334MA |BEARING WHEEL SET OF 4 6 Murray
9212|577021MA |GUIDE,CHUTE 3/20 & 5/ 4 Murray
9212|577707MA |RIVET,OVSET.250DIAX.6 6 Murray
9212|58243MA |STEERING SHAFT 1 Murray
9212|672754MA |PULLEY, BACKSIDE IDLE 1 Murray
9212|690408E 7(IDLER ARM ASSY-MUR7400245BMYP 1 Murray
9212]690411MA |ADAPTER - BLADE 1 Murray
92121690517ZMABRACKET ASSY, S-IDLER 1 Murray
9212|7100862YPHUB, BLADE, 22" PUSH 2 Murray
9212|7103774YPAHOUR METER 1 Murray
9212|7501056YAASSY,HOC,RT,22 WBM 1 Murray
9212|760714MA |TIRE&RIM, 7X1.50 snow 1 Murray
9212|774091MA |MANDREL SPLIN 7.03 Q1 3 Murray
9212|779066MA |QUILL ASM. (( NLA WHEN GONE )-ORE82-493 3 Murray
9212|95309MA |YZ PULLEY,SPLIT STEEL 1 Murray
9213]319596  |BELT 1 Murray
9213|0037X4MA |BELT-4LM-63.96-BD-36 1 Murray
9213]037X11 TRANSAXLE DRIVE BELT-ORE75-111 1 Murray
9213]037X40MA|BELT-62.10 SS 1 Murray
9213|037X43MA|BELT,82.1 EL WED SS 1 Murray
9213|037X45MA |BELT-T'AXLE DRIVE-90 2 Murray
9213]037X64MA|BELT B&S/TEC 21RD 2 Murray
9213]037X73MA|V-BELT 1 Murray
9213]037X76MA|BELT-WEDGE 92.97 E.L 1 Murray
9213|037X78MA [V-BELT - BRIGGS & STRATTON 1 Murray
9213]|037X81MA|BELT-V 88.44 1 Murray
9213|037X82MA |BELT-V 88.86 2 Murray
9213]037X87MA|BELT-V-MOTION DRIVE 1 Murray




9213|037X96MA |BELT 1 Murray
9213]333721MA |BELT,POLY-V 10 RIB 35 4 Murray
9213|37X130MA|BELT 1 Murray
9213|37X139MA|V-BELT - REVERSE-MUR37X139MA 1 Murray
9213|37X2 V-BELT SLEEVED-ORE75-093 1 Murray




Row # Shelf #
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8




9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
9A 1-8
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall




Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall
Wall Belt Wall




	Sheet1

